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£a—F |[R% TEEM HFEEH |[HEEske |[#YTESke [HExIRGIESke [HESH [ [BYRGISE [HUYRSIHE [SYRSIRE [HEXRGISE [HEXR5IHE [HExdiEIRE
1101[XK1E dbimE 20 200 0 200 10 0 0 0 1,296 0 1,080
& 20 200 0 200
NB|FEFEAS [dtiEE 40 400 0 400 10 0 0 0 1,944 0 1,620
[&5) 40 400 0 400
1141[54R BmE 4 8 0 8 2 0 0 0 0 1512 0
& 4 8 0 8
1201[83% % 30 450 0 450 15 0 0 0 2,052 0 1,728
& 30 450 0 450
1203[F ¥Ry [HE 100 1,000 0 1,000 10 0 0 0 864 0 810
HE 95 1,425 0 1,425 15 0 0 0 1,296 0 950
f=554 91 910 0 910 10 0 0 0 1,404 0 972
& 286 3,335 0 3,335
1204[Gih—JL [EH 5 50 0 50 10 0 0 0 0 1,080 0
) 5 50 0 50
1207[ & G 430 43 43 0
1209| B & B 6 18 0 18 3 0 0 0 0 1,296 0
(&) 6 18 0 18
1301[#aF S 14 56 0 56 4 0 0 0 1,944 0 1,296
BmE 54 270 0 270 5 0 0 0 2,592 0 1,404
HmE 10 60 0 60 6 0 0 0 972 0 540
(&) 90 434 0 434
1311|F<F I B 255 1,020 0 1,020 4 0 0 0 1,836 0 1,620
(&) 261 1,044 0 1,044
1321 [HA dLiEE 78 390 0 390 5 0 0 0 1512 0 1,188
BiE 130 650 0 650 5 0 0 0 2,106 0 1,836
(&) 218 1,120 0 1,120
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 0 108 0
x5 210 32 0 32 0.15 0 0 0 119 0 108
(&) 360 54 0 54
1353| Tk =5 60 6 0 6 0.1 0 0 0 0 184 0
(&) 60 6 0 6
1355|445 ERE 400 40 0 40 0.1 0 0 0 0 76 0
(&) 400 40 0 40
1371 [L1Y x5 40 120 0 120 3 0 0 0 1,188 0 1,080
(&) 50 150 0 150
1401|405y [dtiEE 2 4 0 4 2 0 0 0 0 6,480 0
(&) 2 4 0 4
1411 [&E Eh 56 22 22 0
1501 | H & =) 279 1,395 0 1,395 5 0 0 0 1,188 0 972
Eh 279 1,395 0 1,395
1521 | B ¥ (&) 5 50 0 50
1541 [ EH EE 263 2,630 0 2,630 10 0 0 0 1.674 0 1,134
(&) 263 2,630 0 2,630
1603|)L)— [REH 6 60 0 60 10 0 0 0 3,780 0 1,836
(&) 6 60 0 60
1609|F0vay  [dkiEsE 1 8 0 8 8 0 0 0 0 3,996 0
(&) 1 8 0 8
1611[LAR % 5 50 0 50 10 0 0 0 2,160 0 1,620
(&) 5 50 0 50
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1705| T A= =0 630 50 0 50 0.08 0 0 0 0 108 0
& 634 66 0 66
1803 | EHEE =) 1,300 130 0 130 0.1 0 0 0 125 0 66
& 1,750 175 0 175
1807 |#B E% 150 15 0 15 0.1 0 0 0 0 32 0
EF 30 5 0 5 0.15 0 0 0 0 70 0
f=554 1,500 300 0 300 0.2 0 0 0 70 0 49
EF 390 117 0 17 0.3 0 0 0 0 57 0
G 2,070 437 0 437
1809[L&HL EF 150 15 0 15 0.1 0 0 0 0 49 0
f=554 60 12 0 12 0.2 0 0 0 0 76 0
& 210 27 0 27
* SFEET * 14,099 24,194 65 24,129
2607|X1J—A EE 2 4 0 4 2 0 0 0 0 1,944 0
GhH 2 4 0 4
2616|]SAAL _ [ELWL 24 48 0 48 2 0 0 0 4,320 0 3,024
(&) 24 48 0 48
2701|7—JLR  |E%M 4 36 0 36 9 0 0 0 0 9,180 0
(&) 4 36 0 36
2731|F /K A 98 1,470 0 1,470 15 0 0 0 4,968 0 1,296
(&) 112 1,512 0 1,512
2821 |BIER EE 570 285 0 285 0.5 0 0 0 0 486 0
(&) 570 285 0 285
* S FAET * 1,410 3,728 0 3,728




